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St Aloysius College (Autonomous)
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B.Com. Semester II — Degree Examination
May /June 2023

ADVANCED FINANCIAL ACCOUNTING

Time: 2 12 Hours Max Marks: 60

SECTION - A
Answer any FIVE of the following. (5x2=10)
1. What is ‘Accounting with drones?
2. Give the meaning of Single Entry System.

3. State any two features of Dependent Branch.

4. Write the journal entries to be passed in the books of hire purchaser in case of

complete repossession.
5. Mention any two benefits of Forensic Accounting. -
6. What is ‘Hire Purchase Price’?

7. What is the need for departmental accounts?

SECTION-B
Answer any FOUR of the following. (4x5=20)
8. From the following details, find out credit sales by preparing Total Debtors A/c.
g
Opening Debtors 60,000
Cash received from debtors 5,40,000
Cheques received from debtors 75,000
B/R received during the year 15,000
B/R honoured during the year 7,500
Cheques from debtors dishonoured 1,500
Bad debt written off 7,500
Sales return 6,000
B/R dishonoured 1,500
Provision for doubtful debts 750
Closing debtors _ : 72,000

9. Prem purchases a motor- cycle on hire purchase system. The total price of
Motor cycle is payable is ¥ 4,000 as down payment and thereafter installment
of Z 6,000, ¥ 5,000 and ¥ 2,000 payable at the end of I, II and III year
respectively. Interest is charged at 5% per annum.

Calculate the cash price.
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10. From the following information, prepare Branch Account in the books of Head

Office when goods are supplied at cost price:

4

Opening Stock 10,000
Closing Stock 15,000
Goods sent to branch 50,000
Goods returned by branch 1,000
Opening petty cash 200
Closing petty cash 300
Cash sent to branch for:

Salary 4,000

Rent 1,000

Petty Cash 2,000 7,000
Cash remitted by Branch to Head Office 30,000

11. How do you allocate the following items in departmental accounts?
a. Bad Debt |
b. Rent
c. Advertisement
d. Discount allowed
e. Carriage outward
12. State the benefits of Big Data Analytics in accounting.
13. From the following particulars of Sundar Ltd, prepare Departmental Trading
and Profit & Loss A/c for the year ending 31-03-2023,
Dept A Dept B
Opening Stock 30,000 40,000
Purchases 5,50,000 6,60,000.
Wages 1,50,000| 1,80,000
Sales 8,00,000 | 10,00,000
Closing Stock 40,000 50,000
General expenses incurred for both departments ¥90,000. Provide
depreciation at 15% on Machinery (Book value on 1.4.2022, ¥ 90,000) used in
department B only.
SECTION - C
Answer any TWO of the following. (2x15=30)
14. On 01-04-2020, Mr. Arnav purchased a machine on hire purchase system from

Bhagya and Company. The cash price of the machine was ¥11,17,500 and the
payment was agreed to be made as follows:

¥3,00,000 was to be paid on signing the agreement and balance in three
annual instalments of ¥3,00,000 each. Bhagya and Co. charged interest at 5%
p.a. on the unpaid cash price. Mr. Arnav decided to write off depreciation at
10% p.a. on diminishing balance method. Prepare Machinery A/c, Bhagya and
Co. A/c, Interest A/c and Depreciation A/c in the books of Arnav.
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15. From the following Trial Balance of Popular Stores, prepare departmental
accounts and a Balance Sheet as on 31-03-2023.

Particulars Debit (Z) | Credit (%)
Share Capital 80,000
Buildings 40,000
Machinery 25,000
Stock on 01-04-2022:

A Dept 3,000

B Dept 4,000
Purchases & Sales

A Dept 1,00,000 2,00,000

B Dept 1,50,000 3,20,000
General Expenses 1,40,000
Debtors and Creditors 20,000 10,000
Cash at Bank 1,28,000

6,10,000 6,10,000

Additional Information:

1. Closing Stock of Dept A is 13,0-00 including goods from Dept B ¥4,000.
Closing Stock in Dept B is ¥26,000 including goods from Dept AR 9,000;
Both departments supplied goods at their usual selling price.

2. Sales of Dept A includes ¥20,000 transferred to Dept B and Sales of Dept B
includes 30,000 transferred to Dept A, both at Selling Price.

3. Depreciate Buildings by 5% and Machinery by 10%.

4. Create 5% reserve for doubtful debts.

SAC LIBRARY MANGALURU

5. Watchman'’s salary due was ¥800.
16. Following is the Trial Balance of Mangalore Branch as on 31-03-2023
Debit () Credit (%)

Bangalore Head Office A/c 6,480 -
Stock on 01-04-2022 12,600 -
Purchases 35,000 =
Goods received from Head Office 18,000 -
Sales - 76,000
Goods returned to Head Office - 12,000
Sales 3,000 =
Debtors and Creditors 7,400 3,700
Rent 1,920 -
General Expenses 940 -
Cash at Bank 3,560 -
Furniture 2,800 -
Total 91,700 91,700

Branch stock on 31-03-2023 ¥ 5,400

Branch Account in the Head Office books on 31-03-2023 stood at ¥920
(debit). On 28-03-2023 Head Office sent goods of ¥5,000 to the Branch
which was received by the branch on 03-04-2023. Similarly cash remittance
of 22,400 by the branch on 29-03-2023 was received by the Head Office on
02-04-2023.

You are required to pass journal entries to incorporate the above figure.

Prepare Mangalore Branch A/c,

KRRk Rdow
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10.

11.

12.

13.

Note: Log table will be provided.

SECTION - A
Answer any FIVE of the following. (5x2=10)
Give the meaning of Rational Numbers with two examples.
The sum of two numbers is 120. If the greater number is four times the
smaller, what are the numbers?
Two numbers are in the ratio 2:3. If the product of their LCM and HCF is 294,
find the numbers.
Perimeter of a rectangle whose sides are in the ratio 6:5 Is 132 cm, find the
area of the rectangle.
How much ¥ 50,000 amounts to in 2 years, if rate of |ntere5t for the
successive years be 6% and 7.5% C.I p.a?
What is meant by a Scalar Matrix? Give an example.
Find the HCF of 42,63 and 140.

SECTION - B
Answer any FOUR of the following. (4x5=20)

. If x = 35 + 35 show that 9x3-27x = 82.

In a class of 25 students, 12 students have taken economics, 8 have taken
economics but not politics. Find the number of students who have taken
economics and politics and those who have taken politics but not economics

Divide Rs.1050 among A, B and C such that 4:B =1:2 and B: € = 5:3.

From seven Indians and five Germans a committee of 6 is to be fomed. In how

many ways can this be done if the committee consists

(i) ail Indians (ii) atleast 3 German.

4= 92 7]

Find a Matrix B such that A+B = 0 and also calculate 5A+2B

A copper is 56 cm long and its internal radius is 20 cm. If the thickness of pipe

is 5 cm and copper weighs 9 g/cm? Find weight of the pipe (fake T = % )
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"SECTION - C
Answer any TWO of the following. (2x15=30)
6 5§ _ 6
14. a)Solve —+-7=75 (7)

15.

16.

b) Demand for goods is glven by 2p+3q =8 and supply curve is
p? + 2pg + 3q% = 17. Find equilibrium price (p) and quantity (q). (8)
a) A sum invested doubles in 8 years. What is the rate of compound interest

per annum? (7)
b) An endowment has to be created for the award of a prize worth ¥ 1,000
every year to the best student of a college. If the fund can be invested at .

129% interest, what amount should the endowment be so that:

i) prize is awarded perpetually

ii} prize is awarded for next 10 years. (8)
0 1 -3
a)IfA=[1 0 1]ﬁndAz+5A : (10)
31 0 : ‘ |
b) In how many different ways can the letters of the word “DIGEST” be
arranged so that the vowels are never always together? (5)
sk kK kK kK Kk
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B.Com. Semester I1- Degree Examination
May /June -~ 2023
LAW AND PRACTICE OF BANKING
Time: 212 Hours Max Marks: 60
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. What is a Regional Rural Bank?
2. List out four features of a promissory note.
3. What do you mean by wrongful dishonor of cheque?
4. State any four types of banks in India on the basis of their functions.
5. What is a digital wallet?
6. What is the meaning of Garnishee order?
7. What do you mean by RTGS?
SECTION - B
Answer any FOUR of the following. (4x5=20)
8. Write a short note on CRR and SLR.
9. Distinguish between debit card and credit card.
10. Discuss the grounds for dishonor of cheque.
11. Explain in brief the various kinds of endorsements.
12. Describe the features of payment banks.
13. What are the modern functions of banks? Explain.
SECTION - C
Answer any TWO of the following. (2x15=30)
14, Discuss the general relationship between a bank and its customer.
15. Describe the procedure for opening and operating the account of Minor and
trust.
16. Explain the duties and responsibilities of coliecting banker.

3K 3k 3K ok 3K Ok ko o
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INTERNATIONAL MANAGEMENT ACCOUNTING
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SECTION - A
Answer any FIVE of the following. (5x2=10)
What is meant by Big Data analytics?

2. A company produces and sells a single product whose variable cost is $6 per
unit. Fixed costs have been absorbed over the normal level of activity of
200,000 units and have been calculated as $2 per unit.

The current selling price is $10 per unit.
How much profit is made under marginal costing if the company sells 250,000
units?

3. State the features of Time related systems of Remuneration.

4. If Sx= 440, Sy = 330, =x2 = 17,986, sy2 = 10,366, Sxy = 13,467 and n =11,
Calculate the value of coefficient of correlation.

5. $450 is invested in an account earning 6.25% interest p.a.

Calculate the fund value after 12 years.

6. A company uses standard marginal costing. Last month the standard

contribution on actual sales was $44,000 and the following variances arose.

Total variable costs variance $6,500 Adverse
Sales price variance $2,000 Favorable-
Sales volume contribution variance $4,500 Adverse

What was the actual contribution for last month?
7. A truck carries goods from point A to B having a distance of 10 Kms. The total
weight is 150 tones. Cost incurred from point A to B is $1,25,000. Calculate

the cost per tone kms.

SECTION-B
Answer.any FOUR of the following. (4x5=20)

8. Explain the different types of costs classification on the basis of function and
behaviour.

9. Watton Ltd is a retailer of beer barrels. The company has an annual demand of
36,750 barrels. The barrels cost $12 each. Fresh supplies can be obtained
immediately, but ordering costs and the cost of carriage inwards are $200 per
order. The annual cost of holding one barrel in inventory is estimated to be

$1.20. The economic order quantity has been caiculated to be 3,500 barrels.

Contd...2
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The supptiers introduce a quantity discount of 2% on orders of at least 5,000
barrels and 2.5% on orders of at least 7,500 barrels.

Determine whether the least-cost order quantity is still the EOQ of 3,500
barrels.

A company budgets to make 40,000 units of Product DOY in 4,000 hours in a
year.

Actual output during the year was 38,000 units which took 4,180 hours to
make,

Calculate the labour efficiency, capacity and production volume ratios.
Blossom Ltd manufactures and sells garden statues.

The budget and actual results for materials in November are as follows:
Budget production of 7,500 units using 22,500 kg costing $90,000.

Actual production 6,500 units,

20,800 kg of material purchased costing $91,520.

There was no opening inventory of raw materials at the start of November but
there were 500 kg of closing inventory at the end of November.

Calculate the material price variance, the material usage variance and the
valuation of the closing inventory at standard cost.

A business operates a job costing system and prices its jobs by adding 20% to
the total cost of the job. The prime cost of a job was $6,840 and it had used
156 direct labour hours, The fixed production overheads are absorbed on the
basis of direct labour hours, The budgeted overhead absorption rate was
based upon a budgeted fixed overhead of $300,000 and total budgeted direct
labour hours of 60,000. What should the job be sold for?

The forecast sales for an organisation are as follows:

January || February || March || April
$ $ $ $
Sales | 6,000 8,000 [ 4,000 [}5,000

All sales are on credit and receivables tend to pay in the following pattern:

%
In month of sale 10
In month after sale 40
Two months after sale 45

The organisation expects the rate of irrecoverable debts to be 5%.
Calculate the forecast cash receipts from receivables in March & April.

Contd...3
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SECTION - C
Answer any TWO of the following. {(2x15=30)
14. Chapel Ltd. manufactures a chemical protective called Rustnot. The following
standard costs apply for the production of 100 cylinders:

Materlals 500 kg @ $0.80 per kg 400
Labour 20 hours @ $1.50 per hour | 30
Fixed overheads (20 hours @ $1.00 per hour || 20
[ 450

Chapel Ltd. uses absorption costing.

The monthly production/sales budget is 10,000 cylinders sold at $6 per
cylinder,

For the month of November the following actual production and sales

information is available:

Produced/sold 10,600 cylinders

Sales value - $63,000

Material purchased and used (53,200 kg [$42,500

Labour 2,040 hours |$3,100

Fixed overheads $2,200

A} Calculate the following variances for November:
1. Sales volume variance

Sales price variance

Materials price variance

Materials usage variance

ok wn

Labour rate variance
6. Labour efficiency variance
15. A factory consists of two production cost centres (P and Q) and two service
cost centres (X and Y). The total allocated and apportioned overhead for each

is as follows:
P Q X Y
$95,000 | $82,000 | $46,000 || $30,000

It has been estimated that each service cost centre does work for the other

cost centres in the following proportions:

PUQI XY

Percentage of service cost centre X to [|40 || 40| - |{20

Percentage of service cost centre Yto || 30|60 10| ~

After the reapportionment of service cost centre costs has been carried out
using a method that fully recognises the reciprocal servicé arrangements in
the factory, what is the total overhead for production cost centre?

Contd...4
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A) A company uses process costing to value its output. The following was

recorded for the period:

Input materials 2,000 units at $4.50 per unit
Conversion costs $13,340

Normal loss 5% of input valued at $3 per unit
Abnormal loss 150 units

There were no opening or closing inventories.

Prepare Process Account, Abnormal Loss and Gain Account and Scrap
Account,

B) A company that operates a process costing system had work-in-progress
at the start of last month of 300 units (valued at $1,710) that were 60%
complete in respect of all costs.

Last month a total of 2,000 units were completed and transferred to the
finished goods warehouse,

The cost per equivaleht unit for costs arising last month was $10.

The company uses thé FIFO method of cost allocation.

Prepare Process Account and Calculate the total value of the 2,000 units

transferred to the finished goods warehouse last month?
3 e o oK K ok ko ok ok
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SECTION - A
Answer any FIVE of the following.
1. The International Accounting Standards Board’s Conceptual Framework for

(5x2=10)

Financial Reporting identifies qualitative characteristics of financial statements.
Which TWO of the following characteristics are NOT fundamental qualitative
characteristics according to the 1ASB’s The Conceptual Framework for
Financial Reporting?
a. Relevance
b. Reliability
c. Faithful representation
d. Comparability

2. Which of the following statements regarding consolidated financial statements

is correct?
a. For consolidation, it may be acceptable to use financial statements of

the subsidiary if the year-end differs from the parent by 2 months
b. For consolidation, all companies within the group must have the same
year-end
c. All companies within a group must have the same accounting policy in
their individual financial statements
d. Only 100% subsidiaries need to be consolidated
3. The following information relates to two assets held by the company:

C D
$m $m
Carrying amount 40 70
Value in use 80 20
Fair value less costs to sell 70 30

What is the total impairment loss?
4. Daphne is an agent who works on behalf of Celeste, a famous singer. Daphne

has just collected $1 million from a promoter for ticket sales for a recent show
by Celeste. Daphne earns commission of 10% in relation to Celeste's work.
What is the correct double entry for the receipt of the $1 million?

Contd...2
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Entity based in the US purchased goods for Kr200,000 on 28 March 20X3
when the exchange rate was Kr0.65: $1.

The exchange rate at the year ended 30 June 20X3 was Kr0.75:$1.

If the goods were unsold at the year-end, what should be the value of
inventory?

The following extracts of Tom's financial statements are available:

$000
Redeemable preference share capital 40
Ordinary share capital 800
Share premium 300
Retained earnings 400
10% loan notes 100

What is the gearing (debt to debt plus equity) ratio of Tom?

An asset costs $100,000 and has an expected useful life of ten years. The
purchaser intends to use the asset for six years at which point the expected
residual value will be $40,000 (at current prices).

What is the depreciable amount?

SECTION -B
Answer any FOUR of the following. (4x5=20)
Boxer purchased a non-current asset on 1 January 20X1 at a cost of $30,000.
At that date, the asset had an estimated useful life of ten years. Boxer does
not revalue this type of asset, but accounts for it on the basis of depreciated
historical cost. At 31 December 20X2, the asset was subject to an impairment

review and had a recoverable amount of $16,000.

At 31 December 20X5, the circumstances which caused the original
impairment to be recognised have reversed and are no longer applicable, with
the result that the recoverable amount is now $40,000.

Required: Explain, with supporting computations, the impact on the financial
statements of the two impairment reviews.

Identify and explain the fundamental qualitative characteristics of financial
information listed in the Board’s Framework.

An entity issued one new share for every two existing shares held by way of a
rights issue at $1.50 per share on 1 July 20X8. Pre-issue market price was $3
per share.

Relevant information:

20X8 20X7
Profit attributable to the ordinary shareholders for $550,000 { $460,000
the year ending 31 December
Number of ordinary shares in issue at 31 1,200,000 800,000
December

Show the calculation of basic EPS to be presented in the financial statements

for the year ended 31 December 20X8 (including comparative).
Contd...3
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Tamsin Co's accounting records show the following:

Income tax payable on current year profits

__J$60,000 |

Over—p?ovision in relation to the previous year E$4,500
(Opening provision for deferred tax $2,600
iClosing provision for deferred tax $3,200

Page No.3

What is the income tax expense that will be shown in the statement of profit

or loss for the year?

CN started a three-year contract to build a new university campus on 1 April
20X7. The contract had a fixed price of $90 million. CN incurred costs at 31
March 20X8 of $77 million and estimated that a further $33 million would need
to be spent to complete the contract. CN has a right to receive regular
payments under the contract. To date, CN have received $55 million. CN uses
an input method based on costs to calculate the progress of the contract.What
revenue should be recorded for the year to 31 March 20X8?
A herd of five 4-year-old pigs was held on 1 January 20X3. On 1 July 20X3, a

4.5-year-old pig was purchased for $212.

The fair values less estimated point of sale costs was:

« 4-year-old pig at 1 January 20X3 $200
» 4.5 year-old pig at 1 July 20X3 $212
« 5-year-old pig at 31 December 20X3 $230

Calculate the amount that will be taken to the statement of profit or loss for

the year ended 31 December 20X3.

SECTION - C
Answer any TWO of the following. (2x15=30)
The following trial balance relates to Fryatt at 31 May 20X7:

Dr Cr

$ $
Revenue 630,000
Cost of sales 324,000
Distribution costs 19,800
Administration expenses 15,600
Loan interest paid 6,800
Property - cost 240,000
Property — depreciation at 1 June 20X6 40,000
Plant and equipment ~ cost 140,000
Plant and equipment — depreciation at 1 June 20X6 48,600
Trade receivables 51,200
Inventory — 31 May 20X7 19,600
Bank 4,300
Trade payables 35,200
Ordinary shares $1 25,000
Share premium 7,000
Bank Loan (repayable 31 December 20X9) 20,000
Retained earnings at 1 June 20X6 15,500

821,300 |821,300

Contd...4
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The following notes are relevant:

1. Owned plant and equipment is to be depreciated on the reducing balance
basis at a rate of 20% per annum. The property cost includes land at a cost of
$60,000. The building is depreciated over 30 years on a straight-line basis. All
depreciation is charged to cost of sales.

2. On 1 June 20X6 Fryatt commenced using an item of plant and machinery
under a lease agreement, with three annual payments of $29,000. The first
payment was made on 31 May 20X7 and has been charged to cost of sales.
The present value of the lease payments at 1 June 20X6 was $72,000. Under
the terms of the lease Fryatt has the option to extend the lease indefinitely at
a reduced rental at the end of the 3 years. The plant has an estimated useful
life of six years, with a negligible value at the end of this period. The rate of
interest implicit in the lease is 10%.

3. The directors have estimated the provision for income tax for the year to 31
May 20X7 at $7,200. .

Required: Prepare the statement of profit or loss for Fryatt for the year to 31
May 20X7 and a statement of financial position at that date, in a form suitable
for presentation to the shareholders and in accordance with the requirements
of IFRS Standards. |

Below are the statements of financlal position of three entities as at 30
September 20X8

P S A
$000 $000 $000
Non-current assets
Property, plant and equipment| 14,000 7,500 3,000
Investments 10,000 - -
24,000 7,500 3,000
Current assets 6,000 3,000 1,500
30,000 10,500 4,500
Equity
Share capital
($1 ordinary shares) 10,000 1,000 500
Retained earnings 7,500 5,500 2,500
17,500 6,500 3,000
Non-current liabilities 8,000 1,250 500
Current liabilities 4,500 2,750 1,000
30,000 10,500 4,500

Contd...5
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Further information:

(i) P acquired 75% of the equity share capital of S several years ago,
paying $5 million in cash. At this time the balance on S's retained earnings
was $3 million.

(i) P acquired 30% of the equity share capital of A on 1 October 20X8,
paying $750,000 in cash. At 1 October 20X6 the balance on A's retained
earnin.gs was $1.5 million.

(iii)  During the year, P sold goods to A for $1 million at a mark-up of 25%.
At the year-end, A still held one quarter of these goods in inventory.

(iv)  As a result of this trading, P was owed $250,000 by A at the reporting
date. This agrees with the amount included in A's trade payables.

(v) At 30 September 20X8, it was determined that the investment in the
associate was impaired by $35,000.

(vi} Non-controlling interests are valued using the fair value method. The
fair value of the non-controlling interest in S at the date of acquisition was
$1.6 million. |

Required:

Prepare P’s consolidated statement of financial pdsition as at 30 September
20X8.

Given below are the statements of profit or loss for Pacific Motors for the last
two years,
20X2 20X1
$000 $000
Revenue 1,500 1,000
Cost of sales (700) (300)
Gross profit 800 700
Administration and distribution expenses (400) (360)
Profit before tax 400 340
Income tax expense (200) (170)
Profit for the year 200 170

In 20X1 dividends were $100,000 and in 20X2 they were $110,000.

The company is financed by 1,200,000 $1 ordinary shares and the market
price of each share was $1.64 at 31 December 20X2 and $1.53at 31
December 20X1.

For each year calculate the following ratios and comment on them

briefly:
EPS
. P/E ratio
. dividend yield
. dividend cover.

% 3K K K oK K oK ok ok %
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10.
11,

12.
13.

14,

15.

16.

N oA e e

SECTION - A
Answer any FIVE of the following. (5x2=10)

What is the need for an insurance?

What is unit linked insurance plans?

Who is the current governor of the RBI?

Mention a difference between a bill of exchange and a promissory note.
Expand KRA.,

What is a current accouht?

What is an electronic fund transfer?

s SECTION - B
Answer any FOUR of the following. (4x5=20)
What is a surrender value? Explain the procedure for surrendering a policy.
Explain the various role of Merchant Bankers.
Explain the features of cheques and crossings,
Write a short note on Non-Performing assets.
Describe the relationship between banker and customer.
Which are the various negotiable instruments? Briefly explain its

characteristics.

SECTION - C
Answer any TWO of the following. (2x15=30)
Retail lending is a popular financing option provided by banks to individuals.
Elaborate the different types, its eligibility and features.
What is KYC? Explain the documents required for KYC. Identify how to do KYC
for minors and NRI's. Describe who can invest without KYC.
Discuss the banking services rendered by commercial banks in India.

Ao 30 ok ok ok Ok e
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St Aloysius College (Autonomous)
Mangaluru
Semester II - Degree Examination
May/June - 2023
B.Com. (Accounting and Tax)
ADVANCED FINANCIAL ACCOUNTING

Time: 2%z hours Max Marks: 60
SECTION - A

Answer any FIVE of the following. (5x2=10)

1. List any 4 features of Partnership.

2. Write short note on Red-ink interest.

3. Write short note on Accommodation Bills.

4. What you mean by Manufacturing Account?

5. Give any two differences between Receipt and payment Account and Income
and Expenditure Account.

6. Define Average Due Date. List out the various instances when Average Due
Date can be use

7. How the amount to be distributed to partners are calculated when separate
life policies are taken in the following cases:
i) Death of partner
it) Retirement of partner

SECTION - B

Answer any FOUR of the following. (4X5=20)

8. R and S are partners in a firm with a capital of 14,00,000 and 12,00,000
respectively. During the year ended on 31st March, 2022 firm earned a profit
of Rs. 6,50,000. Assuming that the normal rate of return is 20%. Calculate
the amount of Goodwill of the firm by using
§)) Capitalization method
(i)  Super Profit method, if the goodwill is valued at 6 years purchase of
super profits.

9. Rama, Krishna and Raghu shared profits and losses in the ratio of 5:3:2.

They took out a Joint Life Policy in 2017 for Rs. 50,000, a premium of
Rs. 3,000 being paid annually on 10th June. The surrender value of the

policy on 31st December of various years was as follows:

2017 Nit

2018 Rs. 900
2019 Rs. 2,000
2020 Rs. 3,600

Contd...2
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Rama retired on 15th April, 2021 and the policy was surrendered. You are
required- to prepare Joint Life Policy Account from 2017 to 2021 (assuming
the Policy Account is maintained at surrendered value basis).

A trader allows his customers, credit for one week only, beyond which he
charges interest @ 12% per annum. D, a customer buys goods as follows:

Date of Transaction Amount (Rs.)
January 2, 2022 60,000
January 28, 2022 55,000
February 17, 2022 70,000
March 4, 2022 42,000

D setties his account on 31st March, 2022, Calculate the amount of interest
payable by D, using average due date method. Assume Sth January, 2022 as
the base date

During the year end‘ed 31ist March, 2020, the subscriptions received by the
Jaipur Literary Society were Rs. 4,50,000. These subscriptions include
Rs. 20,000 received for the year ended 31st March, 2019. On 31st March,
2020, subscriptions due but not received were Rs. 15,000. Advance
subscription received for the year ending 31st March 2020 but pertaining to
year 2021 amounted to Rs. 26,000. The Subscriptions received in advance for
the year ending 31st March, 2019 includes Rs. 18,000 pertaining to year
2019-20. What amount should be credited to Income and Expenditure
Account for the year ended 31st March, 2020 as income from subscriptions?

Show the subscription account in book of the society.

1 7 } ‘
1o ) = T L
£y x 1
4 {nd - ="
Lo « gki{“r % !
X YEtARg o :
- m e FIOE SN A1

| Invested in business

Market rate of interest on investment 8%
Rate of risk return on capital invested in business 3%
Remuneration per annum from alternative 36,000

employment of proprietor if he was not engaged in

business

The business earned profits of Rs. 2,40,000, Rs. 2,16,000 and Rs. 3,00,000 in
the years 2018, 2019 and 2021 respectively but made a loss of Rs. 36,000 in
the year 2020-.

Compute the value of Goodwill on the basis of 6 years’ purchase of super
profits of the business, calculated on the basis of average profit of last four

years.
Contd...3
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Goods sold by H to G (invoice dated

Goods sold by H to G (invoice dated

Promissory note given by G to H; at three

Balaﬁce due to G by H
Oct. 18 | Goods sold by G to H
Nov. 16

November, 26)
Dec. 7

December, 17)
2022
Jan. 3

months
Feb. 4 | Cash paidby GtoH
Mar. 21 | Goods sold by G to H
Mar. 28

Goods sold by H to G (invoice dated April, 8)

7,500

1,500
6,450
4,050

charging interest at 10% per annum.

Interest is to be calculated to the nearest rupee.

SECTION - C

Answer any TWO of the following.
summary of Receipts and Payments of AMA Society for the year ended 31st
March, 2021 are as follows:

Draw up an account current up to March 31st, 2022 to be rendered by G to H,

© (2X15=30)

Subscnptton Recewed 5,00,000 Payment for Medlcme 3,00,000
Supply

Donation Raised for 1,50,000| Honorarium to Doctors 1,00,000

meeting revenue

expenditure

Interest on Investments 90,000 | Salaries 2,80,000

@ 9% p.a.

Charity Show Collection| 1,25,000( Sundry Expenses 10,000
Equipment Purchase 1,50,000
Charity Show Expenses 15,000

Contd...4
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Additional Information:

R e e e L SN
Subscrlptmn due 22,000
Subscription received in advance 7,000
Stock of medicine 1,00,000 1,50,000
Amount due for medicine supply 90,000 1,30,000
Value of equipment 2,10,000 3,00,000
Value of building 5,00,000 4'80 '000
Cash Balance 80,000 90,000
Opening Balance of Capital Fund 18,03,000

You are required to prepare:
(i) Income and Expenditure Account for the year ended 31st March,
2021.
(ii) Balance Sheet as on 31st March, 2021

Karuna decided to start business of fashion garments under the name of M/s.
Desigher Wear on 1st April, 2020. She had a saving of about Rs. 10,00,000.
She invested Rs. 3,00,000 out of her savings and borrowed equal amount
from bank. She purchased a commercial space for Rs. 5,00,000 and further
spent Rs. 1,00,000 on its renovation to make it ready for business.

Loan and interest repaid by her in the first year are as follows:

30th June, 2020 - Rs. 15,000 principal+ Rs. 9,000 interest
30th September, 2020 - Rs. 15,000 principal+ Rs. 8,550 interest
31st December, 2020 - Rs. 15,000 principal+ Rs. 8,100 interest
31st March, 2021 - Rs. 15,000 principal+ Rs. 7,650 interest.

In view of further capital requirement, she transferred Rs. 2,00,000 from her
saving bank account to the bank account of the business. She paid security
deposit of Rs. 7,000 for telephone connection. Furniture of Rs. 10,000 was
purchased, All payments were made by cheque and all receipts in cash were
deposited in the bank.

At the end of the year, her business showed the following results:

;;'P@miiﬁlé“?fs':'.j'f:}\.‘_':' W - Amount :Partlculars [ s jf'-._fggmAmount:;‘
ey | b O s RO Y N T LRSI RN AR - C
Total Sales 20,00,000 | Total Purchases 17,00,000
Electricity Expenses paid| 40,000 | Telephone Charges 50,000
Cartage Qutwards 60,000 | Travelling Expenses 45,000
Entertainment Expenses 5,000 | Maintenance Expenses 25,000
Misc. Expenses 15,000 | Electricity Expenses 20,000
Payable

Contd...5
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Other Information:
(i) She withdrew Rs. 5,000 by cheque each month for her personal

expenses.

(iiy  Depreciation on building @ 5% p.a. and oil furniture @ 10% p.a.

(iiy  Closing stock in hand as on 31st March, 2021: Rs. 5,50,000

Prepare trading account, profit and loss account for the year ended 31-3-
2021 and Balance Sheet as on that date

A Limited issued 20,000 Equity shares of, 10 each at a premium of 10%,

payable Rs. 2 on application; Rs. 4 on allotment (including premium); Rs. 2

on first call and balance on the final call. All the shares were fully

subscribed. Mr. M who held 2000 shares paid full remaining amount on first

call itself. The final call which was made after 4 months from the first call

was fully paid except a shareholder having 200 shares and one another
shareholder having 100 shares. They paid their due amount after 3 months

and 4 months respéctively along with interest on cails in arrears, Company

also paid interest on calls in advance to Mr. M. The Company maintains Calls

in Arrear and Calls in Advance A/c. Give journal entries to record these

transactions. Show workings of Interest calculation. (Ignore dates).
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May/June - Q333
B.Com. (Accounting and Tax)

LOGICAL REASONING

Time: 2¥2 hours Max Marks: 60
SECTION - A
Answer any FIVE of the following. (5x2=10)
1. The sum of the series1 + 2 + 4 + 8 + ... tonterms is
2. {(3%)% x (4% x (5%} / {(3%)° x (4*)* x (§%)} Is
3. The difference between the S.I and the C.I on 32,400 for 2 years at 5% p.a is
4. 10 examination papers are arranged in such a way that the best and worst

10.

papers never come together. The number of arrangements is

A, B and C started a business by investing ¥126000, ¥84000 and F210000. If
at the end of the year profit is ¥242000, then the share of profit of each of
them is

Log, 51728 is equal to

A person has 8 friends. The number of ways in which he may invite one or

more friends is
SECTION -B

Answer any FOUR of the following. (4X5=20)

A. If 2s: 3t is the duplicate ratio of 2s - p:3t - p then

(22 Marks)

B. Suppose your parent decides to open a PPF account in your name with
210,000 deposits made every year starting from today for the next 16
years, interest at 8.5% p.a. compounding annually. What is the PV of this

annuity?

(22 Marks)

A. If the principal is ¥2,000 & the rate and time are the roots of the equation

x? —11x +30 = 0, then simple interest is

{272 Marks)

B. The letters of the words ‘CALCUTTA’ and ‘AMERICA’ are arranged in all

possible ways. The ratio of the number of these arrangements is

(2Y2 Marks)

A. IFf) = 1/(1-%),f(-1) is

(22 Marks)

B. In how many ways can a family consisting of 3 people have different
birthdays in a leap year?

(2v2 Marks)
Contd...2
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A dealer mixes rice costing ¥13.84 per kg with rice costing F15.54 and
sells the mixture at ¥17.60 per kg. So, he earns a profit of 14.6% on his

sale price. The proportion in which he mixes the two qualities of rice is
(2'2 Marks)

B. The Inverse function f~1of f(x) = 2x is
.(2%2 Marks)
A. If 2% =3Y" =127, then (22 Marks)
The Inverse function h™! when h(x) = logioX iS (2v2 Marks)
A. The value of logg (1 + %) + logs (1 + %) + -+ logs (1 + Ei?)
(212 Marks)
B. A Supreme Court Bench consists of 5 judges. In how many ways the bench
can give a majority division?
(22 Marks)
SECTION - C
Answer any TWO of the following. (2X15=30)
A. On simplification, 1+am‘:+am‘P +7 +a“':1+a“'l‘ + 1+ap-r1n+av—n is (5 Marks)
8. The number of numbers lying between 10 and 1000 that can be formed
with the digits 2, 3, 4,0, 8,9 s
(5 Marks)
C. The number of even numbers greater than 300 that can be formed with
the digits 1, 2, 3, 4, 5 without repetition is
(5 Marks)
A. The value of Je +V6+VE T o S} (5 Marks)
A committee of 3 ladies and 4 gents is to be formed out of 8 ladies and 7
gents. Mrs. X refuses to serve in a committee in which Mr. Y is a member.
The number of such committees is
(5 Marks)
C. The p™ term of an AP is (3p — 1)/6. The sum of first n terms of the AP is
(5 Marks)
A. A company produces two types of leather belts, say A & B. Belt Als

superior quality & Belt B is of lower quality. Each belt of type A requires
twice as much time as required by a belt of type B. If all the belts were of
type B, the company could produce 1000 belts per day. But the supply of
leather is sufficient only for 800 belts per day. Belt A requires fancy
buckles and only 400 fancy buckles are available per day. For the belt of
type B only 700 buckles are available per day. Constraints can be
formulated by assuming that the company produces x units of belt A &y
units of belt B as: (5 Marks)

Contd...3
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B. Eight guests have to be seated 4 on each side of a long rectangular table.
2 particular guests desire to sit on one side of the table and 3 on the other
side. The number of ways in which the sitting arrangements can be made
is

(5 Marks)

C. In a group of 200 persons, 100 are interested in music, 70 in photography
and 40 in swimming. Furthermore, 40 are interested in both music and
photography, 30 in both music and swimming, 20 in photography and
swimming and 10 in all three. How many are interested in photography

but not in music and swimming?
(5 Marks)
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B.Com. (Accounting and Tax}
BUSINESS AND COMMERCIAL KNOWLEDGE

Time: 22 hours Max Marks: 60

N oA W

10.

11.

12.

SECTION - A
Answer any FIVE of the following. (5x2=10)
Who is a nominal partner?
What do you mean by goodwill?
Who can be a partner in an LLP?
What is a foreign LLP?
What are the types of companies on the basis of access to capital?'
What do you mean by shares?
Is registration compulsory for the following entities?
a) Partnership Firm .
b) Company
If your answer to the above is in affirmative, kindly mention the authorities
handling the same.
SECTION - B
Answer any FOUR of the following. (4X5=20)
“Dissolution of a firm is different from Dissolution of Partnership”. Discuss.
Mr. M is one of the four partners in M/s XY Enterprises. He owes a sum of %6
crores to his friend Mr. Z which he is unable to pay on due time. So, he wants
to sell his share in the firm to Mr. Z for settling the amount.
In the light of the provisions of The Indian Partnership Act, 1932, discuss each
of the following:
a) Can Mr. M validly transfer his interest in the firm by way of sale?
b) What would be the rights of the transferee (Mr. Z}) in case Mr. M wants to
retire from the firm after a period of 6 months from the date of transfer?
State the circumstances under which LLP may be wound up by the Tribunal
under The Limited Liability Partnership Act, 2008.
State the rules regarding registered office of a Limited Liability Partnership
(LLP) and change therein as per provisions of The Limited Liability Partnership
Act, 2008.
Ravi Private Limited has borrowed ¥5 crores from Mudra Finance Ltd. This
debt is ultra vires to the company. Examine whether the company is liable to
pay this debt? State the remedy if any, available to Mudra Finance Ltd.?

Contd...2
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A company registered under section 8 of The Companies Act, 2013, earned
huge profits during the financial year ended on 31st March, 2018 due to some
favourable policies declared by the Government of India and implemented by
the company. Considering the development, some members of the company
wanted the company to distribute dividends to the members of the company.
They approached you to advise them about the maximum amount of dividend
that can be declared by the company as per the provisions of The Companies
Act, 2013. Examine the relevant provisions of The Companies Act, 2013 and
advise the members accordingly.
SECTION - C

Answer any TWO of the following. (2X15=30)
A. ABC Limited was registered as a public company. There were 245

members in the company. Their details are as follows:

Directors and their relatives 190
Employees 15
Ex-employees (SHares were allotted when they were employees) 20
Others (Including 10 joint holders holding shares jointly in the 20
name of father & son)

The Board of Directors of the company propose to convert it into a private
company. Advice whether reduction in the number of members is necessary
for conversion. (6 Marks)
B. “Indian Partnership Act does not make the registration of firm compulsory
nor does it impose any penalty for non-registration”. In light of the given
statement, discuss the consequences of non-registration of the partnership
firms in India. Also, explain the rights unaffected due to non- registration
of firms. (9 Marks)
A. Define Implied Authority. “In the absence of any usage or custom of trade
to the contrary, the implied authority of a partner does not empower him
to do certain acts”. State the acts which are beyond the implied authority
of a partner under the provisions of The Indian Partnership Act, 19327
(7 Marks)
B. What do you mean by “Companies with charitable purpose” (section 8)
under The Companies Act, 2013? Mention the conditions of the issue and
revocation of the licence of such company by the government.
(8 Marks)
A. SK Infrastructure Limited has a paid-up share capital divided into 6,00,000
equity shares of INR 100 each. 2,00,000 equity shares of the company are
held by Central Government and 1,20,000 equity shares are held by
Government of Maharashtra. Explain with reference to relevant provisions
of The Companies Act, 2013, whether SK Infrastructure Limited can be
treated as Government Company. (5 Marks)
Contd...3
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B. P, Q R and S are the partners in M/S PQRS & Co., a partnership firm

which deals in trading of Washing Machines of various brands.
Due to the conflict of views between partners, P & Q decided to leave the
partnership firm and started competitive business on 31st July 2019, in
the name of M/S PQ & Co. Meanwhile, R & S have continued using the
property in the name of M/S PQRS & Co. in which P & Q also has a share.
Based on the above facts, explain in detail the rights of outgoing partners
as per The Indian Partnership Act, 1932 and comment on the following:
a) Rights of P & Q to start a competitive business.
b) Rights of P & Q regarding their share in property of M/S PQRS & Co.

{5 Marks)
Limited Liability Partnership (LLP) gives the benefits of limited liability of a
company on one hand and the ﬂlexibility of a partnership on the other.
Discuss. (5 Marks)
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St Aloysius College (Autonomous)
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B.Com. / B.B.A. - Semester II - Degree Examination
May / June - 2023
Ability Enhancement Compulsory Course (AECC)

ENVIRONMENTAL STUDIES AND VALUE EDUCATION

Time: 2 Hours Max. Marks: 50
PART - A
ENVIRONMENTAL STUDIES
I. Answer any TEN of the following Questions: (2x10=20)
1. What is Sustainable development?
2. What is food chain? Give an example.
3. What do you mean by soil erosion? Mention any two causes of soil erosion.
4. What are non-renewable resources? Give an example.
5. What is genetic diversity?
6. What is Acid rain?
7. Give any two significanées of Chipko movement.
8. What is environment ethics?
9. What is Montreal protocol?
10. Define biodiversity hotspot.
11. What do you mean by Ex-situ conservation?
12. What are evergreen forests?

II. Answer any ONE of the following questions. (5x1=05)
13. Explain ecosystem with reference to pond.

14. What are the self-protection measures taken during fiood?

III. Answer any ONE of the following questions. (10x1=10)
15. Explain the different control measures involved in management of urban solid
16. %?‘ls;fis water pollution? Add a note on sources and effects of water pollution.

PART - B
VALUE EDUCATION (II Semester)

IV. Answer any ONE of the following in not less than a page. (5x1=5)
17. Explain four identity statuses of human being.

18. Write down the safety measures to reduce the risk of contracting STIs.

V. Answer any ONE of the following in not less than two pages. (10x1=10)
19. Explain practical ways to control stress.

20. Explain the effects of Alcoholism.
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English

Time: 2V2 hrs. Max Marks: 60

Answer any TWO of the following in about 150 words each. (2X5=10)

_ Describe in detail the various forms of letters. How do letters become effective

forms of communication?

. What is Note Making? Explain the various strategies involved in it?
 What are Memos? Explain in detail Business Memos.

Read the following comprehension passage and answer the question
that follow. (5)
Public general hospitals originated in the almshouse infirmaries established as
early as colonial times by local governments to care for the poor. Later, in the
late eighteenth and early nineteenth centuries, the infirmary separated from the
almshouse and became an independent institution supported by local tax
money. At the same time, private charity hospitals began to develop. Both
private and public hospitals provided mainly food and shelter for the
impoverished sick, since there was little that medicine could actually do to cure
iliness, and the middle class was treated at home by private physicians.

Late in the nineteenth century, the private charity hospital began trying to
attract middle-class patients. Although the depression of 1890 stimulated the
growth of charitable institutions and an expanding urban population became
dependent on assistance, there was a decline in private contributions to these
organizations which forced them to look to local government for financial
support. Since private institutions had also lost benefactors; they began to
charge patients. In order to attract middle-class patients, private institutions
provided services and amenities that distinguished between paying and non-
paying patients and made the hospital a desirable place for private physicians to

" treat their own patients. As paying patients became more necessary to the

survival of the private hospital, the public hospitals slowly became the only piace
for the poor to get treatment. By the end of the nineteenth century, cities were
reimbursing private hospitals for their care of indigent patients and the public
hospitals remained dependent on the tax dollars.

The advent of private hospital health insurance, which provided middle-class
patients with the purchasing power to pay for private hospital services,
guaranteed the private hospital a regular source of income. Private hospitals
restricted themselves to revenue-generating patients, leaving the public
hospitals to care for the poor. Although public hospitals continued to provide
services for patients with communicable diseases and outpatient and emergency
services, the Blue Cross) plans developed around the needs of the private
hospitals and the inpatients they served. Thus, reimbursement for ambulatory
care has been minimal under most Blue Cross plans, and provision of outpatient
care has not been a major function of the private hospital, in part because
private patients can afford to pay for the services of private physicians.
Additionally, since World War II, there has been a tremendous influx of federal
money into private medical schools and the hospitals associated with them.
Further, large private medical centres with expensive research equipment and
programs have attracted the best administrators, physicians, and researchers.
As a result of the greater resources available to the private medical centres,
public hospitals have increasing problems attracting highly quatlified research
and medical personnel. With the mainstream of health care firmly established in
the private medical sector, the public hospital has become a “dumping ground.”

Contd...2
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1.

b)

According to the passage, the very first private hospitals

a) developed from almshouse infirmaries

b) provided better care than public infirmaries

¢) were established mainly to service the poor

d) were supported by government revenues

e) catered primarily to the middle-class patients

It can be inferred that the growth of private health insurance

a) relieved local governments of the need to fund public hospitals
b} guaranteed that the poor would have access to medical care
¢) provided middle-class patients the power to use private hospitals
d) prompted the closing of many charitable institutions

e) reinforced the distinction between public and private hospitals

. The author’s primary concern is to

a) describe the financial structure of the healthcare industry

b) demonstrate the importance of government support for health-care
institutions

c) criticize wealthy institutions for refusing to provide services to the poor

d) identify the historical causes of the division between private and public
hospitals

e) praise public hospitals for their willingness to provide health care for
the poor

The author’s attitude toward public hospitals can best be described as

a) contemptuous and prejudiced

b) apprehensive and distrustful

c) concerned and understanding

d) enthusiastic and supportive

e) unsympathetic and annoyed

Which of the following titles best describes the content of the passage?

a) Public versus Private Hospitals: A Competitive Mismatch

b) Historical and Economic Factors in the Decline of the Public Hospital

¢) A Comparison of the Quality of Care Provided in Public and Private
Hospitals

d) A Proposal for Revamping the Health Delivery Services Sector of the
Economy

e) Economic Factors That Contribute to the Inability of the Poor to Get
Adequate Care

Make Notes on the above passage using appropriate (5)
abbreviations

Write a Precis on the passage. (5)
Write an Email to the HR of your company, asking him /'her to (5)

grant a week-long leave to attend a conference. Mention your
names as Harish / Geetha furnish the relevant details

OR
Write a letter to the Chief of City Corporation on improper waste
management in your locality. Mention your names as Harish /
Geetha

Write a Report of about 200-250 words to the college Newsletter {(5)
on the college fest.
OR
Write a Memo to the Staff of your company on a training
programme to be attended by all the staff for three days.

You are Ramesh / Rachal a M.com Graduate with relevant work (10)
experience. You are applying for a job, for the Post of Finance

Officer in a reputed Company write a cover letter and resume

with a request to be hired.
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V. Analyse the following Graph and present the information therein
by hightighting the main features and make relevant comparison
wherever necessary. (5)

Average hours spent per day in leisure and sports
activities, by youngest and oldest populations
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VI. How does the Novel ‘The White Tiger’ present the picture of various
struggles faced by Indians within the Indian context. (10)
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II

III

=

UNIT - I (PROSE)
Answer the following in a word/phrase/sentence each. (5x1=5)
A.G.Gardiner’s works were written under the pen name of )
Who was honoured with Ramon Magsaysay Award for community
leadership?
Which is a leading Moscow football team that gets mentioned in the lesson,
‘The Sporting Spirit’?
Civil Contracts and defence imports are examples for non-profit sector.
TRUE/FALSE
Expand FII with reference to the lesson Black Money and the Black
Economy.

Answer any THREE of the following in about 150-180 words each.
(3x5=15)

What solutions does Aruna Roy recommend to ensure that the

disadvantaged sections of the society get a better deal?

What are some of the sectors identified by the White Paper that are

vulnerable to the generation of black money?

How does Gardiner describe the superstitions associated with the number

13? '

How does Orwell relate sporting spirit to nationalism?

UNIT - II (POETRY)

Answer any TWO of the following in about 150-180 words each.
(2x5=10)

The poem ‘Ulysses’ examines the contrast between youth and old age.

Describe this contrast, quoting lines from the text to support your answer.

‘The pity of war, the pity of war distilled.” Write a2 note on the importance of

this line in the context of the poem and Owen’s poetry in general.

How does the speaker of the poem, ‘Afterwards’ wish to be remembered by

his contemporaries after his death?

How can life be lost if you are earning your living? Explain with reference to

the poem, ‘Don’ts’.

UNIT - III (SHORT STORY)

Answer any TWO of the following in about 150-180 words each.
(2x5=10)

Attempt a character sketch of Skvortsov.

Write a note on Lushkov's journey from being in the Russian choir to

working at the notary office.

What information did Captain Gerilleau gather about the ants during the

course of his journey?

What did the inspection of the Santa Rosa reveal about the dangerous ants?
Contd...2
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UNIT - IV (GRAMMAR AND WRITING SKILLS)

Fill in the blanks with appropriate articles. Wherever articles are not
necessary fill with an ‘X’ mark. (5x1=5)
Between Jason’s son and his daughter, his daughter is better
athlete.

Mehta’s invited their friends and family.

animals are bred in captivity in the zoo.
I hate the fact that Mathematics is his favourite subject.
Many citizen would welcome such a reform.

Filt in the blanks with suitable prepositions from the list given
below. (5x1=5)
With an umbrella _____ my head, I was able to protect myself from the
midday sun.

He was born twenty miles of New York.

Sharal turned and walked off the night.

The boy waded _____ the water to reach the boat.

I didn’t realize this essay will count my final grade.

(toward, through, into, around, over, within, above, across)

Add appropriate question tags for the following sentences. (5x1=5)
She’s a doctor. ?

I don‘t need to finish this today.

Few people thought about it. ?

I'm never on time. ?

She completed the assignment a while ago. ?

Give one-word substitutes for the following from the list given
below. (5x1=5)

To commit a crime.

That which cannot be defeated or questioned.

Recommendation or active support of an idea.

Willingness to believe.

Pleasantly smooth and soft.

(velvety, unassailable, homage, fragile, advocacy, credulity,
perpetrate, topography)

S e ok e 3K K K kK
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fBer & ok ey s smiform fiw sfedr w st

ferfenT

fRafereT ==t ¥ 6 wv e (5X1=05)
1. Fund 2. Cabinet 3. Account

4. Designation 5. Treasurer

TF a1/ | IR ffre (10X1=10)
Aot afer fahemr e far & 2

T S T g FAereht wefler & 2

G et aeg feed & 2

e s s T g ?
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1

1.1

1.2

1.3

1.4

2.1
2.2
2.3
2.4
2.5

3.1
3.2
3.3

4.1
4.2
4,3
4.4
4.5

7o Tl HYR a9 |
sy T S T Tl gRs S W I
TRyl T TART |

Max Marks: 60
2x5=10

3x5=15

2x4 =08

3x4=12
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B.A./B.Sc.
ADDITIONAL ENGLISH
CROSS CULTURAL TEXTS-1I
Time: 22 hrs. mav / June - 2023 Max Marks: 60

UNIT - I (PROSE)

I A. Answerany TWO of the following in about
1. How is the theme of the partition reflected in

Saadat Hasan Manto?
5. How did Amitav Ghosh prese
Ghosts of Mrs Gandhi?’

3, Critically analyse t

he representation of the caste syste

100-150 words each: (2x5=10)
the narrative of ‘Toba Tek Singh’ by

nt the hellish condition of the Sikhs in the text, ‘The

m in Kerala as presented by

Manu S Pillai in 'gavitri's Revenge.’

4. How did Kush’s mother respond after knowing th

8. Answer any ONE of the following in a

1. Comment on the religious st

e truth about her son?

bout 250-300 words: (1x10=10)

igma prevalent in the narrative of the text, ‘A Hindu

and a Muslim Started Living Together.’

9. Discuss the role of patri

examples from the text, ‘Savi

archy in the lives of Namboodiri women citing relevant

tri's Revenge.’

UNIT - II (NOVEL)

11, Answer any ONE of the following in about 250-300 words:

1. What are the main themes in

Redemption?’

2. Hope drives the inmates at Shawsh

(1x10=10)

the novel ‘Rita Hayworth and Shawshank

ank and gives them the will to live. Comment.

UNIT - III (POETRY)

II1.A Annotate any ONE o

f the following in about 100-150 words each. (1x5=5)

1. Courage was ming, and I had mystery,

Wisdom was mineg, and I had

mastery,

To miss the march of this retreating world

Into vain citadels that are not walled

2. You may shoot me with your

words,

You may cut me with your eyes,

You may kili me with your ha

But still, like air, I rise.

tefulness,

Contd...2
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B Answer any TWO of the following in about 100-150 words each: (2x5=10)

1.

IV. A,

iR W e

A A

’

Decode the symbols and imagery presented in the poem ‘The Rains of Castamere
concerning its source text originating in the ‘Game of Thrones'.

In the poem 'Still I rise’ the poet Maya Angelou asserts on the idea of dignity and

autonomy of the self. Elaborate with instances from the poem.
Wilfred Owen uses poetry to mimic the horrors of the battlefield. Elucidate.

UNIT - IV (Grammar and Writing Skills)

Select the appropriate one-word substitutes from the options provided:
(5x1=5)

A person pretending to be somebody he is not. (Magician/Rogue/Liar/Imposter)
Government by nobility. (Meritocracy/Aristocracy/Monarchy/Patriarchy)
One’s former school or college. (Academy/Alumni/Alumnus/Alma Mater)
To slap with a flat object. (Chop/Hew/Gnaw/Swat)
A speech to oneself when alone. (Soliloguy/Monologue/Mono-act/ Dialogue)

Identify the word that collocates with the word in bold: {(5x1=5)
Serene: salt, sight, smell

Venomous: mouth, teeth, fangs

Able: bodied, war, tabled

Heavy: sip, cry, rain

Scenic: view, picture, visual

Write a movie review for any movie that you have watched recently.
(1x5=5)

o 3 oo ok ok ok
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]. Répondez aux questions:
l.

=R B - W

Qui devient Ie roi ou la reine quand on mange de |a galette des rois?
Quelle ville organisc-t-ele |2 nuit blanche?

Abel Mutai n'a pas gagné I'épreuve de cross-country. Vrai ou faux?
Qui st Patrick.HB?

Expliquez le programme La grande librairie.

Ecrivez deux journaux nationaux en France?

Combien de personnes ont visité I’exposition du peintre américain?
Qu'est-ce que c’est Le Foic gras?

Quels prix sont récompensés pour les meilleurs romans francophones?

10. Qui a signé un contrat de 18 millions d’euros? .
11. Quelie est la signification du |1 noveinbre.

11. Répondez aux DEUX questions en 6 ou 7 lignes

l.
2.
3

Comment les frangais s'informent ?
Expliquez le systeme éducatif en France.
Décrivez la ville de Paris.

I11. Employez le pronom COD ou COl

»oB W —

Est-ce qu’elle voil les enfants? Oui,
Va-t-il expliquer & son ami? Oui,
Est-ce que Cloti{de a acheté le cadeau? Oui,
Avez - vous recommandé ce film? Non,
Daniel écrira 4 ses parents? Oui,

IV. Mettez les verbes au temps indiqué:

N VS T N —

W

Je (decouvrir- présent) les nouveaux pays.

Clara (devenir - passé composé) professeur de mathématiques.
Nos amis (aller- futur) & Nice le mois prochain.

Quand (étre- imparfait) petite, nous jouions beaucoup.

Je (avoir- passé composé) malade samedi demier.

Y. Répondez en utilisant les pronoms relatifs qui, que; ol :
l,

2.
3
4

n

J'aime les activités culturelles la ville offre.

Cela concerne tous les habitants profitent des avantages de la ville.

Paris est la ville j*ai rencontre ma femme.

Le fait tu sois riche ne me dérange pas.
C’est un supermarché on trouve des produits biologiques.

Max Marks: 60

(1 x 10=10)

(5x 2=10)

(1 x 5=5)

(1 x 5=5)

(1 x 5=5)

Contd...2
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V1. Complétez le texte avec les mots proposeés: (1 x 5=5)

( occasion, eufs, majorité, impatience, regoivent )

La des Frangais féte Paques et considére cette date comme une_____ de se retrouver cn
famille pour partager un bon repas. Les enfants aussi attendent avec cette Echéance : ils

cn général des petits cadeaux et des chocolats. Ces chocolats, coulés en formed'___ . de
lapins et de poules, sont souvent dispersés dans le jardin pour étre retrouvés par les plus jeunes : ¢'est

la « chasse aux ceufs ».

VII. Lisez le texte et répondez aux questions:
Je m’appelle Peter. Aujourd’hui, je vais vous parler de mes hobbics.
En fait, il y a beaucoup de choses que j’aime faire dans la vie. Comme beaucoup de personnes, je passc

beaucoup de temps 4 regarder des séries. En ce moment, je regarde un épisode par jour de « Dix Pour
Cent ». C’est une série frangaise que je trouve vraiment drdle.

Sinon, je suis passionné par I’astronomic depuis que je suis tout petit. Je n’ai jamais fait d'études
d'astronomie, mais je suis un vrai geek. J'apprends tout en autodidacte. Je regarde souvent des

documentaires scientifiques sur I’espace et 'univers.

J’aime aussi écouter de la musigue. La musique que j*écoute le plus souvent est Je blues. Mais j’aime bicn
tous les types de musiques, sauf le reggae. Enfin, ce n’est pas que je n*aime pas [e Reggae. C’est juste que
je n’arrive pas a écouter du reggae plus de 30 minutes. Sinon, j'écoute du jazz manouche, du rock, du
hard rock et de la musique classique. J'aime aussi tout particuliérement la musique des années 60,

Je ne joue pas d'instrument de musique, je me contente de I’écouter. Mais plus tard, j’aimerais bien jouer
de la basse.

Récemment, je me suis découvert une passion pour les bandes dessinées. J'ai toute une coliection. Je suis
en ce moment en train de lire « Black Sad », une bande dessinée espagnole. Je ne trouve pas les histoires
trés intéressantes, mais les dessins sont incroyables. J'aimerais bien savoir aussi bien dessiner.

Je crois que c’est & peu prés tout. Et vous, quelles sont vos passions 7

~

A) Repondez aux questions: (Ix7=17)
1. Quelle série regarde Peter en ce moment ?
2. Qu'est-ce qui passionne Peter depuis qu’il est tout petit ?
3. Quelle musique écoute le plus souvent Peter ?
4. Est-ce que Peter joue un instrument de musique ?
5. De quoi Peter est passionné récemment ?
6. Pourquoi Peter aime Black Sad 7
7. Quel est le contraire de drole? ( Heureux, triste, jolie)
B)Dites Vrai ou Faux: (1x3=3)
1. It regarde deux épisodes par jour.
2. Peter ne regarde jamais les documentaires scientifiques.
3. Peter aime aussi 1a musique des années 60.
VIIL Dialoguc (5x 1=5)
1. Invitez un ami pour la festival de musique
ou
2. Aumagasin des chaussures
5)

IX. Vous cherchez du travail en France. Rédigez votre CV.

L L L L
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MALAYALAM
Time: 2' hrs. Max Marks: 60
I. 6E0MO OCHRO (U AT POHONDPLT) (5x1=5)
1. mandn cvalaemlelesm aoyomitam aoyll BRI SODOYMEODOMOEOTS ?
2. PABQPEONT E@onlenomISmOm UIAN2IeINAMD?
3. enmdnoemie Rodauemuflelonman) e&Sea0ud snona@®ornllantn
(e laesmeanmowloymm)  ?
S0FIROTLHMRN (AWM & YA ISUT A GODONES ?
5. allmoni a@:emen)0ly] SOBTMS)EHTNOMATIINSE ?
I, OumdEle MUV NILe QN0 D (mlmmrmmmﬂm‘) (3x4=12)
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16. The “Balanced Diet” is a diet that contains all of the necessary ingredients in

nearly the required quantity. A balanced diet is one that contributes to the
maintenance or improvement of overall health. We should eat a well-balanced
diet that includes liquids, adequate proteins, essential fatty acids, vitamins,
minerals, and calories. To maintain a healthy body, we must eat fresh fruits,
salad, green leafy vegetables, milk, egg, yoghurt, and so on a regular basis.
We need iron, caicium, sodium, potassium, and trace amounts of iodine,
copper, and other minerals. Milk is possibly the only single item that can be
considered a balanced diet in and of itself.
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